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No. of Questions - 18 + 18 = 36 ] [ No. of Printed Pages - 15

Total Pass Marks - 23

Total Full Marks - 70
( Botany + Zoology )

{ Botany + Zoology )
2020
BIOLOGY
{ Optional )
Time - 3 Hours

Use Single Answer Book for writing answers of both Botany and Zoology questions.

Botany 3 Zoology & Wvl & ¥ U% & Fwv. gitqer & ford
SECTION - A
" ( Botany )

Full Marks - 35

‘ 1
Pass Marks - 11 2
Candidates are required to give their answers in

their own words as far as practicable.
acheeft e S v # 6 a4
Figures in the margin indicate full marks.
3977 & 3% quitE FIle #ed &1
All questions are compulsory.

Toft v e €1

General Instructions :
o 10 are Multiple Choice /Objective Type each of 1 mark.

Q. Nos. 1t .
Q. Nos. 11 to 13 are Very Short Answer (VSA) Type each of 2 marks.
Q. Nos. 14 to 16 are Short Ariswer Type each of 3 marks.
Q. Nos. 17 and 18 are Long Answer Type each of 5 marks.
s A .
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Beience
amr fd
gy @@ 1§ 10 % Jgiawcdid UvT / SRS U9 Ye&E 1 376 H §
oY HE 11 R 13 o i Bg IH W WE 2 3 @ X
YA W& 14 ¥ 16 TF Y AT WA Wedw 3 3HF & 6 |

g9 @& 17 9 18 < 39T IH Y% 5 3 A E

Group — A _
gug - H

( Multiple Choice/Objective Type Questions )

( Fgfamedia/ awe w9 )
» Choose the correct answer : 1x10=10

e TG
1. Mpycorrhiza shows

(a) Parasitism (b) Commensalism

‘,J,e')/ Mutualism (d) none of these.

ARz fe@r &

(a) CSHITeRT (b) e

(c) W (d) T R WIS R
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Sclence
2. If chromosomc number in diploid cells of maize is 20, then the
chromosomce numbecr in gametes of maize will be
-ua]’ffo (b) 20

() S (d) none of these.

aft s & fafore wiferersi o TurgEl ® GEA 20 &, @ HEH & gl A ORGA B

gt i
(a)~T0 (b) 20
) 5 (d) 1 | &¢I

3. Organization responsible for maintaining Red data book is
Jay” TUCN - (b) CITES

(c) WWF (d) IBWL.

A T T T 7@ F forg Faler We €
(a) RGO, (b) W iE.

() T=LT=L.UF. (d) T3 = ZTHTA.

4. Breeding crops with higher levels of vitamins, minerals and protein is

called as

(a) Bio-magnification _‘Hﬂ/ Bio-fortification

(c) Single cell protein (d) Somaclone.

g &R arelt fagiiE, @fet td 399 AN g6 a6 T e ¢
(a) T NI b) S gLt

(c) UeHe! HIyR NS (d) HHTEA |
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5. What is the percentage of energy that passes from one trophic level to the

ncxt trophic level ?
Jﬂ'j‘ 10% _ (b) 20%

(c) S0% (d) 100%.
Feit @1 oo wfawr v Ol TR A T O 'R F wEhiE g € 2
(a) 10% {b) 20%
(c) - S0% {d) 100%.
6. The book ‘Origin of Species’ was written by

{a) Malthus (b) Haldane

{¢¥ Darwin ‘ (d} Lamarck. .
TR st wdiviter’ e e g v ¢ 2
(a) WUH (b) ¥

(c) wfam @ e

7. The process of formation of RNA from DNA is

(a) Translation ) {b) ‘Transamination
(c) Replication df  Transcription.

DNA & RNA & Fmfor st wfeear &
(a) TUEROT b)  FETHARE
() Shph (d e

40}'15‘
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8. A maturc angiosperm embryo sac is

(a) 7 celled-7 nucleate (b)

_/(c( 7 celled-8 nucleate (d)

(a) 7 FIRERA-7 HIHE (b)

(c) 7 HiHa-8 Fwa (d)

9. The ratio of monohybrid cross is

(@) 9:3:3:1 (b)

f©) 1:2:1 . (d)

X8-BlofBot+Zool(Qpt.1-8

8 celled-8 nucleate

8 celled-7 nucleate

8 Wfea-8 FH

8 HINFE-7 F=HA!

3:1

2:1.

THHEHT HHOT FT 3T ¢ hup://www jharkhandboard.com

() 9:3:3:1

(cy 1:2:1 (d)

Gy 3:1

2:1,

10. What arc herbivores in an ecosystem ?

al”” Primary consumer (b)

(c) Tertiary consumer (d)

o R o 3 e R E 2
(a) WU ITERH (b)

(é)iqﬁhﬁﬁéqﬁﬁh d)

Secondary consumer

Autotrophs.
ﬁﬁhﬁﬁavﬁﬁm
it |
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Group - B
g -«
[ Very Short Answer Typel Questions )
( e 7Y Iwdta we )

2x3=6
11. Dcfinc ccological succession.

afkfRefamt srp 7 afonfe w1

12. Write the names of two nucleic acids.

3 e vl % T el

13. Definc Test cross and draw diagram.
3R R H oo S o Yate
'. - Group - C
s -/
{ Short Answer Type Questions )'

( ¥ AT W¥ )

Ix3=9

14. Write the names of A, Band Cin the following picture :
B ' C N
A DNA ——» RNA —————3 Protein
Fitea fam 1 4, B wd C 1 I Wt

B ' C :
A @Nﬁ"’_"—-” RNA —————— Protein
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15. What is grecenhouse cffect ? Write the names of two gases aflecting green-

house cliccl.

gitane s = ¥ 2 wiare sy @ wfaa w0 e N T e
16. What is restriction enzyme ? Give example.
sy G 1§ ? I S
Group - D
g -
" ( Long Answer Type Que'stions )
( 9 Iwda W )

Sx2=10
17. Draw a well labelled diagram of DNA double helix.

Eﬂ'oq-_-]'oQo %ﬁfﬂﬂl T iR fox ml
OR / ¥r@ar

With a ncat diagram explain the development of 7-celled, 8-nucleate female

gamctophyle in angiosperms.

e We @ s PR F a0 At d 7w, sdnem
W%ﬁmﬁmaﬁl
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8. Write the answers of following questions : 2+ 3

(i} What is ccological pyramid ?

(i) Write the suitable names of A, B, C, D, Eand Fin the given picture.

Tertiary —
consumer — > C | O

L 1
(P EH}!"?"D B 1 o0
Sreo g _A—E 8 oo
pr Fe— F——10,0000
. 1,000,000 J of sunlight

ﬁwﬁ-‘ﬁaﬁma;aﬁﬁ:
6) TRt frfae s & 5

() funefada, g c D, EWE F& 3I9qw T faad |

GRiGea -
IOiHT _ — O

D

B J:[—‘—lﬁf .,

F L 10,0004
T T 9 1,000,000 J

OR / 3gar
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SECTION - B
( Zoology )
Full Marks - 35

Pass Marks - 11%

General Instructions :

Q. Nos. 19 to 28 are Multiple Choicc/Objective Type each of 1 mark.
Q. Nos. 29 to 31 arc Very Short Answer (VSA) Type cach of 2 marks.
Q. Nos. 32 to 34 arc Shor{ Answer Type cach of 3 marks.

Q. Nos. 35 and 36 arc Long Answer Type each of S marks.

| 3w
7T T 19 R 28 7% AP WA / S W TAF 1 3® F ¥
woT WET 20 @ 31 A% I oY ITNG TH WS 2 3’F F |
qv ST 32 ¥ 34 76 Y ITNT G WAF 3 3 1§
e WG 35 T 36 LY IR W FAdF 5 IHD L

Groui) -A
g - A _
( Multiple Choice/Objccti‘ve Type Questions )

( wghraedta/ TS W )

wod paeoqpueyreyl mmm/:dny

Choosec the correct answer : 1x10=10
/& IW G ¢
19. Conservation o[-organisms in their natural habitat is called as
(a) In situ conservation (b) Ex situ conscrvali_cn
.{J/both (a) and (b) (d) none of these.
| 9 of 15
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20,

21.

Sclence

<Hall %1 w1 wiehfash T I TIEOT FEewar &
() T TM FTEIT (b) I TR T

(¢) (a) T (b) QA (d) T R @18 T

A

(12)-50356

A person suffering from colour blindness cannot differentiate which of the

[ollowing colours ?
(a) Bluc and green colour \_(9/ Red and green colour

(c) Red and yellow colour (d) Red and blue colour.

ForiveT | difga =t Fraffaa F Q fea 0t & S92 =8t @2 9mm 2
(a) AT W& & T (b) A T T
(c)- e T 9l 7 _ (d) BRekic ikl

Which of the following is a sexually transmitted disease ?
(a) Cholera «]”  Syphilis
(c) Typhoid (d) Elephantiasis,

Frfefias & & ¥ w A7 wafw e 2
(a) T b)  fefefea

(c) EERS (d) - Tehfemtag)
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22.

[
[ ]

24.

XS-Bio|Bot+Zoo)[{Opt.]-8

" Sclence

[{ow many sperms are produced from a single spermatogonium ?

@ 6 (b)

[c) 4 (d)

(@) 6 | © (b)

(c} 4 (d)

1

3.
T YR BT e YR i Rl g € 2

1

3.

uterus is called as  hup://www.jharkhandboard.com

{a) Placenta (b)

(c) Trophoblast . d)

Fallopian tube

Endometrium.

(a) 39U (b)
(c) WIHRE (d)
The ratio of dihybrid cross is

@ 3:1 - | 5]
() 9:7 o, (d)
faient THAUT BT I ¢

(aj 3:1 (b)
(c) 9:7 C(d)

http://www.jharkhandboard.com

iganter AAferen

T 3T &

9:3:3:1

12:3:1

9:3:3:1

12:3:1

. The structure which provides vascular connection between foetus and
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23. The toxin protein produced by B-thuringiensis is
(a) Lysin (b} Ligase
-'f(lJ Cry protein (d) Histamin.

A-epeiieriia qrr 3o o o A s S 2
() e (b) =

() W= ) b
26.
/ Who proposed the ‘Theory of Natural Selection' ?
diﬂ/ Charles Darwin (b} Malthus

c) L
(€)  Lamarck (d) None of them,

‘mewmm'mﬁw&mﬁam?

(@) == efem _ (b) Oioqy

() vk . @ S W

27. Which of
(a) CO, pollution (b) CO pollution

() Acid rain Ad)

Ozone depletion.

ﬁmfaf@a_ﬁ@aﬁqméﬂ;a#ﬂnﬁmﬁaﬁqaﬁmwmmt?
(a) CO, WguUT (b) CO %g&uI

.[c) A gt (d) AR 319
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;8. An cnzyme catalyzing the removal of nucleotides from the ends of DNA is

- 31.

29.

30.

http://www.jharkhandboard.com

(a) Endonuclease (b) Exonuclease
Q;}/DNA ligasc (d) Helicase.
ST % Rl | =fierdiers o7 wer F whear Ht I8 F ae GRS §

- [y

() CSTIECTCH (b) e

(c} ST AR (d)  eelhs
Group - B,
| 9 ug -

{ V_ery Short Answer Type Questions )

( afar o 3oda we )

2x3=6

What is ozone hplc ?

A o5 =& ?

Name two i-nfcctious di.seases.
T WHEHSE W & AW e
What is co-dominance ? Give one example.

WE-IIadr 991 § 7 TF I3 <
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Group - C
T - H
{ Short Answer Type Questions )
( g IA0E "I )
3x3=9

32. Write the diff!:lrcnccs between spermatogenesis and oogencsis.
I S O 3ig < % e 9 el
@Whal IS genetic enginecring ? How is it beneficial ?
T N w1 ¥ 2 7w Frw v swE@rh & 0
34. What is amniocentesis 2 Write the use of amniocentesis,
Wm ¥ 2 TR ¥ 39d fad 3
Group - D
gug -
{ Long Answer Type Qﬁestions )
( <t =g v )

. Sx2=10
@Wllh the help of a diagram describe the structure of human sperm

ﬁ?ﬁmﬁmmﬁmwaﬁqﬁ.
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i6. Write in detail the process of semiconservative replication of DNA.

SuTe AL St ) shmar w1 e @ Gl

OR / &&al

Match Column A with Column B:

Column-A

Column-B
a) Yeast Plasmid
b) Use and disuse of of if) Nitrogen fixation
c] Vector / iiij Budding
d) Light iv) Lamarck

¢) Azotlobacter v) Abiotic factors.

W '3 @ R WA FIT

oy 37 ESte
) d i s
T) sbil ¥ SaEnT @ A-SE iy T R
&) AR ) e
7). R iv)

) TEREERT v) AT FRS |
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